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QUESTION 1

When implementing a new Isilon cluster, DNS entries are added to a company\\'s environment that looks like the

following: Isilon_nodel.isilon.clustercom AAAA fd18:b23e:1659:ad42:0:0:a:a9
What does this entry indicate?

A. AAAA record maps hostname to a 32-bit IPv4 address

B. AAAA record maps hostname to a 64-bit IPv4 address

C. AAAA record maps hostname to a 64-bit IPv6 address

D. AAAA record maps hostname to a 128-bit IPv6 address

Correct Answer: D

QUESTION 2

Isilon SmartLock Compliance clock has drifted from the system clock.

How can the difference between compliance and system clocks be corrected?
A. Compliance clock drifts towards system clock automatically

B. Compliance clock drift correction is not allowed

C. Administrative user "root" can manually adjust the compliance clock

D. Administrative user "compadmin” can manually adjust the compliance clock

Correct Answer: A

QUESTION 3

How many Isilon Job Engine v2.0 components will be present on a single node?
A. One director

B. Two managers per job

C. Two workers per task

D. Three coordinators

Correct Answer: A

QUESTION 4
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An organization has a five-node standard Isilon cluster. Due to regulatory requirements, they need to build
a compliance mode cluster using the existing production hardware.

How can this be achieved?

A. Perform an in-place upgrade of the standard cluster to a compliance mode cluster

B. SmartFail two of the nodes and use them to build a new compliance mode cluster

C. Add the SmartLock license to the existing cluster and create some compliance mode directories

D. Purchase a new cluster as there is no way to upgrade an existing cluster or reformat nodes

Correct Answer: A

QUESTION 5

What is the estimated space savings from audit log compression on an Isilon cluster?
A. 25%

B. 50%

C. 75%

D. 90%

Correct Answer: D
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